Topic 2 Quiz 2 Review (2.3-2.4) Name: he& PR
mplete on your own r.

Part 1: Writing equation of parallel lines
SHOW ALL WORK

1.) Find the slope of a I|ne parallel to the line that passes through the points (-2, 0) and
...-Z_ = -1

2.) Find the equation of the Ime in slope-intercept form that goes through (-6,4) and is parallel to

y=—%x+2? \j-‘-{= -3 (x+0)

L : 2
- - + -
: . Lm . 2 % 12 = '3" (x _5)
3.) Find the equation of the li at passes through (3, -2) and is parallel to y = EX?
2
x

2 2

2 2
A y=Zx—4 B. y=2x-2 C. y=2x+3 D )y=2x
y=3* ’73 Y73 @y 3

4.) Find the equation of a line parallel to 4y -8 =3x and goes through the point (5, 1) in slope-intercept

form. Hy=2% t+§ \j
Y=dlux + 2

5.) A line has equation y = ———2—x +1. What is the line parallel that passes

.peform. '9_1-:-%3- LX;L'D—/

Part 2: Writing equation of perpendicular lines
SHOW ALL WORK

ugh point (4, i), write in point-

6.) Find the slope of a line perpendicular to the line that passes through the points (5, 2) and
(8, -1) in slope- mtercclept form.

Y _ 32 4.
, S-% " ~3 : 2 1
7.) Write the equation of a line th rpendicularto y = —gx——- and passes through the point

(-5, -3) in point-slope form?
Yide 3 (x45)

8.) Whieh of the following is an equa ne ;g)endlcular to y=-3x-1?

A. y+3=x B. 2y-3=x -x+3y=3 D. 3x+y=-3
%:X"?) (j_ +3 _32\5:- XT.B (j:-é-gx_-B
2 3
9.) Find the equation of the line in slope-intercept that goes through the point (-7, 5) and is! perpendlcular to

2x-3y=-18. Lé %_— (x+1
— 29 =-2%x-\} z
250 y-Fxt (l %xms Sj

10.) Which is the slope of a Ilne perpendlcular to the ==2xF67

. A 2 @l C. ——
2 2




11.) Which lines are perpendicular?

1 B 2
y=5x*0 y=3x+1 y=2x y=5x+3
A. j B. C. 1
1 y=3x-1 > 3 .

=——x+l =—=x-1
IETE Y77
12.) Which of the fallowing statements are true about lines w, 7, p, and 2
w: '—§-x+2 n: -g—x+6 : —-—3-x—3 z: —2x+1
R 73 P 773

IL. wlp @n[lz @Z.Lp

A Tonly B Hony C IMonly D. landll () TandIn

Part 3: Writing eqtlation of vertical and horizontal lines
SHOW ALL WORK

13.) Write the equations of the line that is horizontal and goes through (-4, -8).
14.) Write the equation of the line that is vertical and gores through (-2, 7).
15.) Write the equation of each line.

‘ I E 3 A

“+— 4
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Part 4; Writing ethation of lines in standard form.
SHOW ALL WORK .

16.) Given the equatlttn -3x JS?y -42 find thF' x-infercept and y-intercept.

("“0 |D\ and 0 \b
18.) Graph the equatlon —dy =

ID. a“ (0,2.) =-3% t1§
19.) Convert 3x - 6y. = 18 into slope-intercept form. l ‘j v 3
| . =X -

20.) Snickers and Kit; Kats are on sale. Snickers are $0.50 and Kit Kats $0.35. Charlie sper@ on the candy
bars. Write an equation to represent the situation. Find the greatest number of Snickers that can be bought.

Find the greatest number of Kit Kats that can be bought.

X:Smickers 0.5%~ 12 b.%??\j:\'?_ .
nia ot e

0.9%+035u=1Z  \ax Gnickes 24
| Mox ¥t kat 34

17.) Given the equation 5x 8y = -80 f‘ nd the x-mtercept and y-intercept. X/‘




